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Just like "'y — D72 7T DY 2920 1T Ty R
for which we are liable n22, for purposely transgressing it.

OVERVIEW

Regarding 1"y the 70 writes' that if 79%7 mM¥nT 93 DX AWy X1 Wwwn o,
there will be a 127p 2.2 The 7wnd continues’ Tw2 TWIWY 0O 7°° NAR 71N
(regarding 3w), and concludes immediately® "1 am7 72 awyn wR woim
"3 70751 (regarding 7°772). 1213 maintains that since there is a wp i from W
to 7', therefore there is a need for 7¥>7, etc.(even by a3w). The 7127 who
argue with 1217 (and do not require a 7¥>7> by 22W) maintain that this (¥p7)
teaches us that there is a (337w2) nXvn 211, only when there is a 7°1722 n72 210
as it is by 1"v. The wp 1 according to the 7127 is from 1"V to all the mxn (but
[seemingly] not from 22 to 7). Our Moon explains how the 7127
responded to the question, ‘what does the wp> 1 from 7°12% 33 teach us’.

nvon asks:
— 9 1Y 1Y MNIVT XYIDN DIP1M YN 9NN ON)Y

And if you will say; notwithstanding, that we derive from "1 1awn °21 that
DRV N 7Y (1°2%7) N2 7177 9 120w 95, but why is there a need for the

wiot of 3w to 7o -
— 1999 192 AYIN TUN YNNT NP DNN 29N 11 NY 199N

For even if the 770 would not have written there (by 1"v) the o2 of
7 792 WD NWNR WA (which creates the wp i of T W) -

— 55999 N9 N1 Yy 29NY N9 NTAYN VAV )by
We would have properly derived from 797 7712 that anything which is
N9 7T Y 2vm, etc., will be nxvn anaw Yy 2n. What do the 7327 derive from the

wp 1 of 1% AW (in addition to what they derive from [ X 7790] that 1"'v% 0910 W
regarding n13)?!

'3 w0 (75w) NaTea.

215 poo ow.

3 13 100 DW.

45 5100 w.

> 121 derives from the w1 of AW (W2 AwIwY) to T (n7 7°2 A W) that AW requires a my7°. The
1127 are seemingly responding that the words 7987 M¥na %3 NX wyn X2 Bwn °21 and nnX 770 (which
indicate that 1"¥% 0713 W) teach us that 191 N1 W77 %Y Panw 22, However the 1127 are not explaining
how they interpret the wp*n of 7117 2w! Seemingly it comes to teach the ruling of 121, See ‘Thinking it
over’ # 1.
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Mo0IN answers:
— NWH9 NYNNA 29N INNI NIN N9 NAYY NYIPNRT 1D 1957 9197 U

And one can say; that we cannot compare all the n¥» to 1"V in all respects
(of 1"v), but rather we can only compare them to the aspects of 1"'v which
are written in that ;7292 (which states n1¥n7 93 "3 13w ") -

— AYYN TUN WAINI NI MINND TIIVEN 297 67‘1\?)1‘,711 VIO TINN yIVNTI
As is evident from >"'w93p, and therefore it was necessary to cite here the
»1eD of IWYn WN WHIM in order that we should derive that there is no nXwR 270
M2, unless there is a 7°722 n72 210 (which we derive from woim). If however the 770

would not have written here w3 (for a w17 to compare AW and 7°1»2), I would not have
been able to derive that there is no 3277 2117 unless there is a n72 217,

modIN proves his point that when the &3 states 1"¥% 0915 W17 it does not mean that the
nxun 21 for all the M¥»n must be similar to 1"V in all respect, but rather it must be similar
only in these aspects which are mentioned in this 7215 of 1wn "1

— 9% ANAYD NDIPD INTT JY S¥A9T N9 NTAYN 139999 XY NNT Y19
You know that this is so, because we do not derive from 3"y that there
should be a requirement by all the mx» that he will be liable for m%7pg if
he transgressed it 7512, as it is by "'¥. The reason there is no such requirement;
only a requirement that there is a N7 27, is -

— 5 NIN DY XINNA NDIPD 29N NOT DIVN

Because in that ;7292 (of wwn °27) there is no mention of 77%°po, but only
of n9>. This proves that the wpr is only for those aspects of 1"y which are written in the
7wd, therefore the wp i of 2w (referring to 1272) to 71 (referring to N7D) is necessary
according to the 7127 as well.

mooIN anticipates a difficulty:

— 13971 1992 N (3,1 17 MINT NN P9 YT 1S0PNNT XM
And regarding this which, in the last 95 of n>» n>on, we exclude 7o and
i from a 3293 if 22 one did not bring a o9 7277 or was not 1, he is not liable
for a nXvA 1277 -

— N9 12 YW %9 Yy 9N

Even though there is a N9 21 for transgressing either 'nos 1277 or 79°». The
reason they are NXVM 127pR 70D is -

6 WP "2 where "W states 707211 A wWOIM 79 0T,
7 See » ,b (7M9va) 12712 that YR X7 WHIT ANIIN [0 MWY? 27M N WK
¥ See 7,1 (79) Mwx12 that RYA K77 WHIT AN N 90 KD WK 137 9.

2

TosfosInEnglish.com



nn "7 'on X,00 paw .72

— 139 AYY DIP 2N TPa¥N NY NINNI 9INRT N9 NIy NNT DIVN
Because as stated all the nXvr °21°11 need to be similar to 1"V, and therefore
we argue that just as "'y it is case where the 7710 says, ‘do not serve 1"y’
similarly there is a 21’17 only when there is a prohibition not to do something;
however these (noo and 77°n) are commandments where it is necessary to

‘stand up and do them’; there is no prohibition involved, therefore there is no 2rn
1297 if one refrained from doing them awa.’

mooIn responds:
MYYT ROY INNKY N1 ¥IYNT NNT 172 NYYN TUNR YWIINI 29NIT DIV ) 139N

This restriction (that there is no j299 211 unless it is a prohibition of &%
72vn) is also because it is indeed written that 7729 752 JwWyn WK Wi
which indicates that he did something (7wyn), which I commanded
elsewhere not to do; therefore we can exclude 7" 1o which are merely AWy o1p.

nooIN asks:
— (3,097 PIN2T NP P92 79 N N2PY 2291 N2¥PY 229 RONT 1229 99NKRN ON)

And if you will say; the 3129 of this 8n»»92 (who argue with 1217 and
maintain that there is no need for 7v>7°) is lov"ﬁ, and »''9 maintains in the
first 292 of NN NHon -

— 2505 WA DX 793103 91T XD INAT
That this P02 of n7a%» refers to someone who ‘blesses’ '77, but it is not
referring to 1"y. How can we derive from this 7w"5 that there is a nXvn 21°7 only by sins
which are N2 1171, when in this w19 there is no mention of 13 by 1"v; only for f7an?!"

Mo0IN answers:
— N9 ANAYY NDID NINN JD NYPIN RIN VPIT RIYVITT Y UM

And one can say that the syntax he mentions here, namely, %> mwpi

'Y A9 7N -
— N2PY 2297 19297 NDHN VD)

° The difficulty is that in this 7w9 it does not state ‘do not serve 1"y’, so how can we derive that 72yn X2 is
a prerequisite for nxkvn 21n, if it is not mentioned in this 7w"o. [In fact in this 7w79 it seems that 1"V is
depicted in a 7wy D manner, for the 77N writes "3 Wyn X7 Bwn 21, indicating that he did not do
something that was required of him! See 7 7K.]

10 See the xm3 on the previous '2 7wy which states 121 ¥"7 17 K 21 ¥"1 2197 17 1210 777 0.

! The entire 108 is fAY 27PN X7 WHIT 7NN 73 R T DK N 00 702 AwYn WK woim.

"2 This is a euphemism for the opposite; meaning he is cursing (5"1) Hashem.

" According to 900 we can only derive those restrictions by 1"y which are written in this 7wo.
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He mentioned it only according to the 129 who argue with ¥''9 regarding
the term 773, and they indeed maintain that 773 (also) refers to 1"v. These 7127 also
disagree with 121, and this w97 of 1"¥% 121 w17 was mentioned for their sake -

— QWA NN 793119 NYID NINN I AYPINT 91993 )9 PR RAYPY 229D DAN

However according to ¥'' we can say that nX 7922% 7912 77907 92 nwpn
Qw7 and not 1"v%. The 71m°2 will be the same.

nooIn asks:
— 195 N3 Y 12 YWD 2397 KW OIND 12 Fannn ox

And if you will say; and according to 12132 how will he know this X297 of

B''2% that there is no nXur 210 unless N3 M7, since he ‘uses’ the P02 of WK WHIM
TR0 192 7WYN to compare 77 A ?

N1B0IN answers:
— (%0 41 NAXT NNP P93 539 YWIITTD 1YY NPT PNY 13539 9N

And the 3" says that he will derive this ruling as 529 derived it in the

first =9 of M2’ noon -
— 1YY INDN YR HRONN NPT PIND NI (0 47 MPNNT 72 P93

And in the second P92 of N1 Noon; it states here; “WN NNWAT VTN
79 Wvn (‘and the sin upon which they transgressed will become
known’) -

11959 NMAY MYIY NI8Y NPN RY AMNN IR DYNY *91N9)
And it states elsewhere; 79 NP N9AD MY 7PN XD INMR DR TNy (‘do
not take a woman in addition to her sister to antagonize and reveal her

7Y upon her). We derive from the mw 771 of 779y 7%, that just as by 1MWK MR
there is a 7°m2 N2 211, similarly there is a NXYA 21°1 only when there is a 7°1722 n75 217.

SUMMARY
The wpon of all the m¥n to ™"¥ (regarding a 127 211) is only in regard to
those details that are mentioned in this 7225 such as n15 21°17 and 772y X5.

THINKING IT OVER
mooin asked why is the P05 of 121 woIM necessary to teach us that 1°2»nw 93
m5 7 9. Seemingly if not for this 709, how would we know that the

'* See “Thinking it over # 2.
13 > 7 xp" regarding a nxvr 1297 (of MAX Sw 127 ObY ).
"1 (mX) X7 regarding the 7Y MK of MWK NAX.
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1292 21’1 by 1"V 1s for an N7 MO°R, since by 1"V there are other 210X (such
as pwanm pannna) for which there is no n7> 2vn. Therefore this P09 is
necessary; what is mso1n question?'®

2. How can we connect m»oin last question (121 121121 n"XY) to the previous
question (X277 7327 10"'X1) and answer?"’

17 See footnote # 5.
18 See 0"An and X"ow.
19 See m Hw naw.
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